TRk 3 0 FEILE C L EMATRAR A
Bt REAHER

IGAT | REEiLEL A — FEOR ERfE R > 57— FEOR
B 1 3W3 0% 10MF~1 21, | 13W30%) 1 0~ 1 21,
Ml ~15830% | 138~1 58 ~15W30% | 13K~15H

4 B 4 oK) 11 oK 18 oK) 25 oK

5 H 2 K 0 K 16 k) 23 k)

6 B 0 Kk 13 oKk 20 oK) 27 K

18 4 oK 11 ok 18 oK) 25 k)
8 B | S 8 K 15 oK 22 K
9 A 5 K 12 ok 19 oK 26 K
10 A 3 k) 10 o 17 oK 24 oK)
11 B ] oK 14 oK 21 oK 28 K
12 A 5 Kk 12 ok 19 oo

1A 0 16 oKk 23 0K

2 B 6 K 13 oK) 20 k) 27 k)

3A 0 Gk 13 oK) 20 R 27 k)

X HARDKEERIZERR, 7272 L. KIEEXNOHOLAEITIFA L7200 £9°,
X O 12H25HS1H7HITKETE 220 £,




